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BIOLOGY ANSWER KEY




ki Analogous structures arc gy regyly ) L 2)
o1

(1) Convergent evolution
(2) Divergent evolution

(3) Parallel evolution

(4) Retrogressive Cvolution

2.  Which of the following dges not aff
€Ct th

¢ Ha
(1) Natural Selection rdy- \‘(Cmbcrg €quilibrium ?

(3) Gene pool (2) Genetic drift

,;-@.') Gene migration

3. whiCh Of . . <
more like an dpe ?
(1) Homo erectus " :lpel |
(2) Dryopithecus

(3) Austral opithecines (4)
Ramapithecus

4. N ‘ :
ucleosome is associated with molecules of histones
(1) Four
(2) Nine J
(3) Two \ |
e
. hhi
(4) Eight “H:
)

Select the observations drawn from the human genqﬁi‘a project which are correct.

(A) The human genome contains 3164.7 million bp[|

(B) The average genc consists of 3000 bases.
.« estimated at 30,000.

(C) Total number of genes 15
for over 50% of discovered genes.

(D) The functions are unknown
of the genome codes for protemsw
iven b$low

[(z) (A) (C), (D) and (E) only

(E) Less than 2%

Choose the correct answet from the options g
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6. Match List-T with List-11 - v
List-1 T hmereesase
- List-ty
| acental mammals Counterpart m
" par arsupial |
(A)  Anteate N o s
r () Spotted cuscys J‘
(B) Bobcat L —
o (IT) Numbat
Lemur -
—— - (11T) Flying Phalanger . -
YIng squirre] (IV) Tasrnm‘ﬁ_-i;\_tigcr cat Ty

Choose the correct answer from the options give:‘j‘gl I _
\_ clow :

(1) (A)- ), B) - av), (C)- M, O)-qamy

1(2) (A)- ) Yy _
3) (A)- V), B)- ), (C) - ), (D ) (A)-an, B) -1, (©) - V), (D) - (11
D)= 4@ (A)-av), B) - @), () - (1), (D) - (11

i Identify the incorrect statement/s : C]

L

A) Intesti '
(A) estinal perforation and death may occur in{:‘ﬁ?re cases of typhoid infection.
(B) Common cold is caused by Rhinoviruses.

(C) Lips and fingemails may turn grey to bluish colour in severe cases of pneumonia.
(D) Pneumonia is caused by Salmonella. e

(E) Typhoid fever could be confirmed by Widal {gkt.

Choose the answer from the options given below E

(1) (A), (C)and (D) only <(2) (B) and (E) only
(3) (D)only %(4) (A) and (D) only

[]

8. Match List-I with List-II : .
List-I Gist-I1 \
Types of barriers Examples |
(A) Cytokine barriers (1) Mucus coating 3
(B) Physical barriers (11) ~ Tears from eyes |
(C) Cellular barriers (T11) Iﬁi'il\gocytosis } _____,.%
iological barriers (IV) Interferons -
(D) Physiolog E{T

Choose the correct answer from the options givcn_ﬁplnw :
(1) (A)-(1V),(B)- (111), (C) - (1), (D) - (I) Cl2)y (A -, (B) - (IV), (O) - (l.ll],, (D) - (D
D(4) (A) - (IV), (B) - (), (C) - (111), (D) - (1D) )

; D) - (111)
(3) (A)-(I),(B)-(D)(C) (IV), (
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Smack is chemically . LBl
(1) Diacetyl morphine 4.
(3)  Benzodiazepine I3(2) Cocaine
10. ‘ : [_: 4) Amphetamine
Antibodies are S€Creted by - (’IF
(1) T-Cells 'I;'
(3) a-Cells 2) B-Cells
4 B-Cells
11.  Insewage treatment, flocs are - <]
(1) the solids that settle during sedimentation.
’} .
(2) the supernatant that is formed above the primary sludge.
(3) the masses of bacteria associated with fungal filaments.
(4) the bactena which grow anaerobically and arg also called anaerobic sludge digester
12. Match List-I with List-II : &%
List-I List-11L]
Products Organisﬂ]s
(A) Statin (1) SH'L’}HEJEE}'L’H.'{ |
(B)  Clot buster (IT) | Trfrhm?f-:iimu
(C)  Swiss cheese (111) Mmmsé&i o
(D) C}’Clﬂﬁpﬂﬁn-A (IV) Prﬂpfmn"i!-ucrrw'f M i
Choose the correct anSWer from the options given below :
(1) (A)-,B)-0) (C) - (IV), (D) - (1)
2) (A)- (1), (B)- (0, (©)- V.0 (1)
(3) (A)- (), (B) - (IV), (C) - 41), (D) - (I) =tfl:
@) (A)-aD, @) -, ©- 0O (V) E
13.  The beetle used as 2 biocontro] agent for aphids a <‘mnsqmmes 1S -
(2) Dragonflies
(1) T richoderma 4.
: ~(4) Silver fish
(3) Ladybird 8
14. Downstream processing method involves : |
: * <k2) Amplification
(1) Identification |
~ (4) Purification
(3) Fermentation
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15.
wly "frhj
ch of
the f
0 ¥
CNzv ¢ Ilﬂnlng IS (B
“yme 7 S nort the correcti
; he s )
(]} Fun i e L[i ﬂ-.“f“j .',_,-E:”.I..;‘”I .:r": _1.[';_",""-': (Ve ll.

(3) P)
dil cellg —
Ils (2) Algae — Methylase

Cellulase
' 14(4) Bacteria — Lysozyme
rrange the followin | Hid): Bacuts Lysozyme
(A) In | B steps involved in transfc Lol :
cubation of rDNA wi dns UTIT]H‘[]}}H of bacteria in a sequence from inhall
(B) Treatn with bacterial cell on ico?]
i 1ent with divalent cations t]
) Heat shock treatment JE‘“
\J

(D) Selecti "
| on on antibiotic containing agar plate
(E) Placed them again on ice ’/I

Choose the correct an
¢ co er f b
t answer from the options given below

(1) (A), (B), (D), (C), (E) (2) (B), (A)

3 "
e
1777

(), (E), (P)
(E)

17. Whi |
ich of the following statements are (ncorrec

(A) Fragments of DNA can be sﬂparatcd by ELIE{Q
l‘ﬂpir:t:ﬁ of DNA 1S intmduu:d in a host hacterium

(B) Transformation is a procedure through whicl
ﬂff: isolation of a desired DNA fragment.

(C) Recombinant DNA technology does not invol¥
8

(D) DNA ligases are used for stitching DNA fragments into a vector.

Choose the answer from the options given below
.
(2) (A)and (B) only

(1) (A) and (C) only
(3) (B)and (C) only 4) (A), (C) and (D) only

i
than natural human mik

MNCs.

statements are frue ?
is nutritionally MOEe balan

oresources wiffjout prop

and vaﬁ&.lry of GMOs and
'u:Qntribution of gen

18. Which of the following
ced for human babies

(A) Milk obtained from ‘Rosie’
iopiracy refers 0 the use of b
the decisive body for safety
als help us t0 understand !

swer from the options give

or authorisation from
(€) GEAC s GM research r::spectivcly.
(D) Transgenic anim es in the Jevelopment ot disease:
Choose the correct an a'helow :

2) (C) and (D) only

(1) (A)and (C) only
4) (B) and (C) only P

——

(3) (A)and (D) only
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19.  Mate
itch Li_ﬂ'l With Li“_" _ (10)
. — '
LI&'"[ o _—_-H_-_‘*-_'_'_'——'—h- -
Ifw List-11
i - : _-_‘_‘_-_‘_-"“'—-—-—.___ * '
(A) « l'a““‘fymin —— __'ifd_ﬁ_{r_ﬂ’rmluiu _
(B) U’]'f.‘fc .-._(Ll__ A h"!’l’*fﬂ’{’j{]*”t" mcognitia
S e il
\ “l} Comn borer
(C) AntlSEHSE R_NA - —
(D) cryldh —— “”J_ ]HI emphysema
o e (IV) Cqﬂun bollworms

Choose th
C correc :
Fect answer from the options giw::ﬁﬁcluw :
{ _

O-an [

@ @-0,®)- ), ©)- qmy, ). vy <

(1) (A)- ), (B)-avy, (¢ - ),

(3) (A)-qm), B) -, (©) - (), (D) - (1V)
(4) (A)-@),B)-av), (C) - (1), (D) - (11)

H:
&
(1) Genetic and Environmental Advisory Cnmmﬁlec

*H
(2) Gene Establisment Approval Committee O

20. Expand “GEAC”

(3) Genetic Engineering Advisory Committee [-;_

{

(4) Genetic Engineering Approval Committee

| ‘ S ONVCTS] inactive protein to acuve
21. When an insect feeds on the B¢ plant, the insect dies due to the conversion of inactive prote

rotein In : .
p e

(1) Alkaline pH of the gut. ‘[‘::}l

(2) Acidic pH of the gut.

(3) Acidic pH of saliva. ;E
(4) Alkaline pH of saliva, [-__-;
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22.  Match List-1 with List-1] - |
List-I — Listll - o
i
Interspecies R - i
¢s Relationships Fen{ufes
- — i - O oo
(A) Commensalism (I OH_LI—SFJE!'ES s benefitted at thccxpffif_tfmihfr
(B) Mutualism (1I) On::{'.;;‘mcicsﬂis hann;iznd the other 1 “Tmf_tid
C ‘ _qTI:______ — ==
(C) Amensalism (111) BertJhc species arc bcncﬁttEL —
— e R - affected
(D) Parasitism (IV) Onccies benefits and other remalﬂfjﬂ

Choose the correct answer from the options given b{c?LW |
(1) (A)- (), (B) -, (C) - (1), (D) - (IV) 2) (A)-(IV), (B
(3) (A)- D), (B)- @), (C)- ), (D) -1AV) #’r) (A) - (11D), (B)

) - (1), (C) - (1), (D) - (1
- (1v), (©) - (D) - (1)

; What type ¢
23. In a country, at any time, the population has the ﬂe qumber of youngs and mature ones. V12t iype
growth does it reflect ?
(1) Expanding (2) Declining ﬁ) Stable (4) S-shaped
itive Exclusio

nd violate the Gause's ‘Compel

24. Two closely related species can co-exist indcﬁrf?jly a

Principle’ by : 4
(1) eliminating the inferior species.

(2) resource partitioning.

(3) interacting with each other symbiotically. %

(4) changing the area of grazing. E%
25. The process of mineralisation by microorganisms hbﬂs in the release of :

(1) inorganic nutrients from detritus and fonnatio%f humus.

(2) organic nutrients from humus. - Lj
(3) inorganic nutrients from humus. <|

(4) organic and inorganic nutrients from detritus.

In which ecosystem is the biomass of primary consumers greater than producers ?

(1) Forests (2) Grassland (3) Desert (4) Sea
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27, Choos
SC the correes . (14)
\ e Satements iy, respect
( } [-)‘n..c'un'lrlﬂ.r.‘l“un is an — 1 0 [_1L"~,"~"‘|'I]|‘Ilr_if-..|[[“” ltom the 5'“]!“1,.,,_-|”|!_r
i i i "I'J 'HE 1-”.“:”1.-
(B) I)Lc::}nummmn rate of detryy d . 34
= us de 1 :
(C) W\ nll:'t*-:-iﬂlubm Organi HEhCs “I““i.l’hu chemical nature of it
C nutrients pq ; "leaching
(D) Humiﬁcanml follow BO 1o the Lu][ and get precipitated in the process of leaching
S Mingralis T <
CI]G{’IE\L [h ‘ alion. .
€ correct ansgwer from (he Options gi\.’c:]"t{) ]
(1) (B) and (D) TR R
only N
(3) (B) and (C) onl l_] (2) (A)and (C) only
- y
Q (4) (A)and (D) only
P, ;
28, Match List-I with Lis¢-qy -
List-]
List-11 |
Concepts i I+ n
. LXplanation "
N (A) Standi 12
) tandin — : e .
* E state (I AvnllaPIc? biomass for the consumption of heterotrophs \
f (B) Secondary productjv; - :on of i by consumers |
> ty (I1) Rate ul(t?mmm:m of organic matter by cons |
(C) Standing crop (1II) Mass ofjliving matter in a trophic level at a given time j
(D) Net primary productivity | (IV) Amouft.of mineral nutrients in the soil at a given time \

Choose the correct answer from the options givenm bhelow

(1) (A)-AV), (B) - (111), (C) - (11), (D) - (I) (2) (A)- (1), (B) - (ID), (C) - (111), (D) - (IV)
(3)  (A)-1V), (B)-11),(C) - (III), (D) - (1) 4) (A) - (1), (B) - (1V), (C) - (11), (D) - (111)

; » . ‘
Read the passage carefully and give the answer to th:}_: next five questions :
.. |
India was amongst the first countries in the world to if"iﬂiatc action plans and programmes at a national level 10
attain total reproductive hecalth as a social goal. These pQ‘Frammcs called ‘family planning’ were initiated in 1931

and were periodically assessed over the past decades. Improved programmes covering wider reproduction-related
eas are currently in operation. C reating awareness ﬂlr@jg the people about various reproduction-related aspects
ar - :

d viding facilitics and support for building up alaprﬂductiveiy healthy society are the major tasks under
and pro T

these programimcs. q
29.  Which of the following is not a Sexually Transmitted Disease ?

(1) Chlamydiasis (2) Filariasis

(3) Genital herpes (4) Trnchomoniusis

SPACE FOR ROUGH WORK / Y% & & fotu sz
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(16 )

Which of the 1 : ;
; L l'l.]'“l','!“'ll] r state .y : s ancy
* L-l . . . L w x s TN 5 é L 'nl'l Lj >

E sl nents s mcorrect with rf.'S[}L'El to Mcdical ICI'I'HII"IJ'IILH'] ufl rcg

30.
(1) They are considered safe during the first (rimester
5 e lonnlicmd v - :
(2) Itis legalised in Indig from 1971, ‘?ﬁ:
(3) MTPs | erered medical
3 can be performed cven after 24 weeks, but with the opinion B o rcs,ii-‘iff
pracutioners on specific grounds, <]
(4)  About 20% of lobally:
o ol the total number of conceived pregancies undergo MTP in @ ycar glove yff
31. Match List-I with List-I1 :
| .
¥ P
;IH_ ) * List-11 <
Various Assisted Process Involved
Reproductive Technologies
e directly
(A) ZIFT (I) Formation of embryo in vitro by injecting SPETT
Into ovum 1eres 1Into
(B) ICSI (II) Transferring of embryo with more than 8 blﬂﬂt?ﬂ:\\;
the uterus {;}‘nm
- 1
(C) IUI (II) Transferring of fertilised egg up 10 8 blastf}meﬂ
fallopian tube Q
(D) IUT (IV) Transfer of semen from a healthy donor 1nto th&gtﬂms
artificially O

Choose the correct answer from the options given below :

(I) (A)- ), (B) - (D, (C) - AN, (D) - (V)
(3) (A)-D, (B)- 1), (C) - (IV), (D) - (I)

) (A)-{), (B)- 1), (C)-(1V), (D) -ﬁ)
@) (A)-(1V), (B)-111),(C) - 1), (D) - )

Which of the following methods of contraception is not meant for females ?

(1) IUDs
(2) Lactational amenorrhea
(3) Vasectomy

(4) Condoms

Saheli’ — an oral contraceptive pill, also known as the ‘Once a week’ pill, was developed by

(1) AIIMS
(3) CDRI

—
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Read the pass

‘1L'1.I' '\\t W
1ch ec - G s
LLUI!.J!‘_‘”,“‘ hih'c_ -11”}., []1””{” to
|

age ¢

TSWers (o (1

NUMDCer O e . . ne i
Fol species ths h”“' live questions -

i ummmnit}f e

[1[1'1_ LFET t " 4 i ; s

been able 1o BIVe 3 (i " '“”u””””?i of the ccosystem ”? This s a question
. . - o Ll I ]“La i ;
CICS, geney CRFRanswer. For many decades, ccologists behieved than

| ally, tend 14 b
ISCrvation Of N:

r'r_ -
1%

c ”Iﬂr}' ; . . .
‘rl- h[ﬂil]!L !I'l\lr'. t}l{.“.{: 1|...'|_T]I] I!‘:H‘ . "'H.FJ'.\,I';.II-‘H" J,L.|:__|-_:{'jr'|:.111.;'. 8]

r

and anin :
. 10l specieoe da. . - dlure ;
PCCies deser and N‘“"i'f | number of plant

36.

3.

38.

al RCHILI[{‘_:;*&, ”[J{';\'J (2004), the total
an L5 mili{op,

Which of the f o | |

ies are equ \
1al - : ova coo
Qually important IN 2 stable community and absence of any onc leads 10 11

In ‘rive : -
€t popper hypothesis’ the ‘rivet’ signifies : [I

(1) Key species —

<12) Endemic species

(3)  Community .:“_‘"(4) Mhecics
. ] | |
The scientist who proved that species richness <(;1 ectly correlates with the stability of a community,
was i u
-
(I) Paul Ehrlich \{2) David Tilman \
(3) Robert May (4) Edward Wilson |

Among the vertebrates, which of the following is the most species-rich group ?
(2) Fishes

(3) Insects ‘ﬂ(‘l) Mammals
1Al

(1) Reptiles

The following are the various hypotheses pmpﬂscﬁ]n explaining the greatest biological diversity in tropics

excepl : -\]
Temperate regions are subjected to glaciatlons, but tropical latitudes have remained relatively

(1) :
undisturbed. <J

(2) Tropical environments have morc lunnidity/rlm‘smrc which helps the diversity to flourish.

(3) Tropical environments are less seasonal and ﬁ't/(.lrc: constant. |

(4) There is more solar encrgy available in the tropics which contributes to higher productivity and hence,

biodiversity.
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39,

40.

41.

42.

43.

Cells present in the mature pollen 2rains are

(207

(1) Central cell and generative cell

(3) Vegetative cell and generative cell

Match List-I with List-I1 :

Q)qi\mipudul cell and vegetative cell
M){fi!ifmrm cell and micropylar cell

L

List-I <l -
List-11 _ °
Structures Functi o
(A) Filifornm nﬂm{ml i -
apparatus (I) Made u@fspmmpﬂllcnin
(B) Tapetum i .
(11 Altﬂchnfeﬂt of ovule to the placenta
(C) Exine | . i , 'R
(II)  Guides pollen tube into the SY“”E'L_
D) Funi '
(D) icle (IV)  Nourishes the pollen grain -

Choose the correct answer from the options given belo

(1) (A) - (IV), (B) - (1), (C) - (11}, (D) - (111)
(2) (A) - (1), (B) - (1V), (C) - (1), (D) - (I1)
(3) (A)- (D), (B) - (1), (C) - (111}, (D) - (1V)
(4)  (A)- (D), (B) - (1), (C) - (IV), (D) - (I1)

Primary Endosperm Nucleus is the product of :

(1) Double fusion
(3) Parthenogenesis

In humans, mammary gland is divided into

Sre
\g}
]
<

14
()
"
<

(2) Triple fusion

(i) 10-12
(3) 30-35

Sex in human embryo is determined by :
(1)
(2)

(3) Only ‘Y’ chromosome of sperm

‘X' chromosome of egg

‘X’ or 'Y’ chromosome of sperm

(4) Health of mother

(4)Ht5 — 20

SPACE FOR ROUGH WORK /Tm_%rd%%qm
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‘ . 3
44.  Aummange the following stages of oogenesis in order ? their occurrence.
(A) Ovum I'T'l) Qogonia
‘ : E—— |
(C) Prnimary oocyte “P) Sccondary oocyte

Choose the correct answer from the options given bMow -
(1) (©), (B), (D), (A)

%) (B), (C), (D), (A)
(3) (D), (C), (A), (B) g

<P (A),(D),(C),(B)

45.  Which of the following pair of contrasting traits was not studicd by Mendel ?
(1) Pink and white flowers
(2) Inflated and constricted pods ‘I
(3) Axial and terminal flowers {?} h
(4) Green and yellow pods L-—-

<

46.  Failure of chromatids to segregate during cell divisioh cycle results in :
(I) Polyploidy L}) Euploidy
(3) Aneuploidy (g) Autopolyploidy

¥7. Select the correctly matched pair about sickle cell anaemia :
Genotype : Phenotype
(A) Hb™ Hb” : Diseased phenotype
(B) Hb™ Hb® : Diseased phenotype
(C) Hb> Hb> : Diseased phenotype
(D) Hb®> Hb™ : Carrier of disease

Choose the correct answer from the options given W

(1) (C)and (D) only
(2) (A)and (C)only
(3) (B), (C) and (D) only

(4) (A), (B), and (C) only
- ~ SPACE FOR ROUGH WORK / '{q;m'% ﬁqﬂw\\—
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48.  Match List-Twith List-11 : A |

List-1
Scientists :;“'" - ———
iscovert:
| (A)  Sutton and Boveri 0 - ;UJErE
(B)  Sturtevant sl J)
(I) ~ Ch .
(C) Henking mmnﬁETHITImD"}’ of Inheritance
D) Griffith (111) TFHHSFGFI:EEIEDH in bacteria o
(IV)  Genetic tidps

Choose the correct answer from the options given below :
W @-0.®-),©-0.®-a < '

(2) (A)-I), (B)- @), (C)-aAV),(D)- I

(3) (A)- (), (B)- (), (C) - (I, (D) - (IV)

(4) (A)-(V), (B)- 1), (C)- ), (D)-dN

49. Which of the following statements arc incorrect w@ respect to nucleotides ?

(A) Purines and pyrimidines arc nitrogenous basep. ]

enzymatic molecules. q

_OH of 5 C of atiucleoside through phos
OH group present at 2’ position

(B) Nucleotides are non-
phoester linkage.

(C) Phosphate group is linked to
(D) In RNA, every nucleotide res in the ribose.

(E) Thymine s an example of pyrimidine. q
Choose the correct answer from the options given below :
(2) (D) and (E) only

(1) (A),(B) and (E) only
&) n(B}anﬂ-(D)*.o‘n'FY (4) (B)and (E) only

idue has an additignal -

' sequence from initiation to end.

50. Arrange the given steps of D

(B) Isolation of DNA <
(C) Hybridisation using labelled VNTR probe

“H:
(D) Transferring (blotting) of separated DNA fraf{ljcms (o SY
the options given E:'fow i

nthetic membrane

Choose the correct answer from

(1) (_AL FB),{). (D) 2) (A), (D), (O), (B)
RO ETLAE § (4) (C), (A), (B), (D)

H -
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